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1) Observe that inverse functlons when composed, “un-do” each other.
a) Notation f~'(x) is pronounce “f-inverse of x". '

CAUTION: This notation looks like an exponent, but it's not. Exponent would be outside: [f(x)]‘l = 72;5

CAUTION: f~'(x)is NOT usually the reciprocal of /(x).

b) “Un-do” means: (f o f )(x) x,(fo f Yx)=x
2) Find the inverse of a function.
a) From a list of ordered pairs
b) Algebraically ‘
c) Isthe resulting inverse a function?
3) Determine if a function has an inverse function, AKA “is an invertible function A function has an
inverse function if: : :
a) itisone-to-one: for each y value there is at most one x value
b) its graph passes the horizontal line test.
¢) Recall: Tobe afunction, the graph must pass the vertical‘ line test..

CAUTION: A graph can be one-to-one and notbe a function, or vice-versa. To be an “mvemble function”,
:t must pass both the VLT and the HLT.

4) Graph functions and their inverses. :
5) Use algebra to show that two functions are inverses of each other. Show that: (/™' f)(x) x and

(feofx)=x

Practice and Examples
1) Given f(x)=2x+3and g(x)-=—;-(x-—3), find:

a) (gof)x)
b) (fog)x)

c) (g°fX23)
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2) Complete the tables for f(x)=2x+3and g(x)=5(x~3)

AN x| y=fx) . A ' X |y 30‘7

-2 -1 :

0 3

1 5

52 107

-1 -2

3 0

5 1

107 52

3) Find the inverse of the function. Graph the points of the function. Is the inverse a function?

y=Ff(x)

nidiwiNn

win|-jo|x

4) Find the inverse of the function. Graph the points of the function. Is the inverse a function?

x_| y=fix)
-1(2

113
2 14
513




For each graph, identify
N a) Isitafunction?
b) Isit one-to-one?
¢) lsitan invertible function?
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11)

12)

a) f(x)=2x-5

Find the inverse of the function.
a) f(x)=2x+3

b) fx)=dr-1

Q) fx)=5x+7

8
2x—

d) f(»)= 3

Graph the function and its inverse on the same grid.

b) f(x)=(x+5)’
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2) Complete the tables for f(x)=2x+3and g(x)= é—(x -—3)
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3) Find the inverse of the function. Graph the points of the function. Is the inverse a function?
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4) Find the inverse of the function. Graph the points of the function. Is the inverse a function?
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For each graph, identify ‘ .
- a) Isitafunction? = Does ¥ Vaﬁﬁz\wvt—‘r

b) Isitone-to-one? = Toes W pass Ye K17
¢) Isitaninvertible function? = Do.es W} pass ot ¥le VET and. Hae Wit
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11)

12)

Find the inverse of the function.
a) f(x)=2x+3 cee next (96‘62/

b) f(x)=4x-1

) f(x)=35x+7

d) [e)=5-—

Graph the function and its inverse on the same grid.
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9.1.27 Iffix)=x2+ 8,vg(x) =Vx and h(x) = 2x, write F(x) = 4x? + 8 as a composition using two of the given
functions.

Fx)=(_J-[ D&

Given {00 =X43
3 D = \1’;{
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